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ARSto 1 1) o0 HLow 535 e, oo 1,2.3 Hor 4 o Md g0 SERees SESvBoN
0 S, DoRyh ST &3, ey & sraiuiin. H8 SOEHD SBCRBBLBD 1 By,
2) 58 S, SENHBBOBL 1/4 Bl oo By Wol SdBabeb,

3) 040 DXREPAHALCL LAED DY)

0.625 AwE) €S

1) 25

0:16=63:x o0 X Dend

1) 168 2) 557 3) 144 4) 112

43 grhosre griidoo 5 Hdak %o 2 By SO +veennrnne

The number which leaves quotient 5 and remainder 2 when divided

2) 12 3) 32 4) 22

2'=32 wowi$ (then) 2**2=...........coo.....

1) 16 2) 32 3) 64 4) 128

e BpP A Dothihen HBoSKoIN?; How many points are lie on a line?
1) 2 2) 4 3) 3 4) ®Sod0o; Infinite

V9604 =98 ®@aw:d (then) V0.9604 =

1) 0.98 2) 9.8 3) 0098  4) 0.0098

8 5P G 640/~ 57 B 680/-0H eAYS orgfEdo ............
Ifan object is purchased by Rs. 640/- and sold it Rs. 680 then gain % is.......

©

1 1 1
1) 12= % 2) 40% 3)6-%  4) 8-
3322 ) )% )3%
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17)

4x8™=2% wand (then) m=........cccoco...

1) 3 2) 5 3) 1 4) 2

Y-Sy miicciciiiins

1) 1 2 4 3) 1225  4) 1125

52 52

125 @oE) Seeodro...........; Decimal form of 125 18 casvanammienia
1) 0.412 2) 0.514 3) 0416  4) 0.512

a™=729 58cd™ (and) m=2a ®ond (then) a”=..........ccovvvennee

1) 27 2) 81 3) 813 4) 243
04 @8 SSPLAPOO ooccvvnnannns ; Square 100t of 0.4 iS..c...cvueerviuenncn.
1) 05 203 3) 0.6 4)02

SStpmodo WGomrecd svHedS HKSod Foso Sogy ...uuinn.

Number of Independent measurements are needed to construct
a quadrilateral is .................

1) 3 2) 4 J) 6 4)6

X:¥y=5:2 o (then) 8x+9y:8x+2y =....cccccvvvrnannnn
1) 29:22 2) 22:29 3) 11:29 4) 29:1

28 o8 SPBPOEOHO HORY .ovvcurarene.

The number which has only one factor is ...........ceecenne

1) (EeS Sogy Prime Number 2) Soaing Sogyg Composite Number
3) 1 8o 2; Either10r2 4) 1 st B 2 s°eD; Neither 1 nor 2

808 BE° HB 66 rn (BHos® oh?
Which of the following is in ascending order?

1) 8.080, 8.800, 8.880, 8.008 2) 8.008, 8.080, 8.880, 8.800
J) 8.008, 8.080, 8.800, 8.880 4) 8.880, 8.800, 8.080, 8.008
&8 HEEeoEt b........ 0% EDA 4odnod; Anequation contains...........

1) LHS. 2) RHS. 3) = 4) DSy All the above (3]




2014 &' Ko SBEHEPS Hogge JOR.....eveene

Number of even prime numbers below 2014 is
) M 2) 2 3) &
“m % [ S&rodborr a5B"% o8BS Erdod® (Frahre

The symbolic form of “m is parallel to " i$ .....cccevvunrins
1) m/Jl 2) lLm 3)/~m 4)/=m

20) Bod Sogge VB 3:4 8 Karegr. 4 ®onS 8 E..00. ccvveennenn,
The ratio of two numbers is 3:4 Its HC.F. is4 its LC. M. is............ ;
1) 12 2) 16 3) 24 4) 48

Frposred® Sofud SOk HrsY EgSrotren Stdr

The additive and multiplicative identities of whole numbers are .................
respectively.

2) 0,1 3) 11 41,0
griohiy; 1790184 is divisible by
1) 2 2) 3 3 6 4) 25%; All the above
1 o0l 100 S8 Ko 8o (S Sogge Sogy,
Number of twin primes between | to 100
1) 6 2) 7 3) 8
SiBod >VS° wssdah Sopg °08?
Which of the following is not a rational number?
1) 1 2)13 3) Vs
2X=-3=4x+5 ®aons (then) x =......ccccrvvene.
1)1 2) 2 3) -3

(—5)"l x (—5)4 e cicanias

1) (-5)” 2) (-5’




-

27) a:bHddiw cid © o5 DB
Compound ratio of a:band c:d is
1) ab:cd 2) bc:bd 3) ac:bd 4) ad:bc
&80d IS S0PY 5§ Somy SB?
Which of the following is not a perfect square number?

1) 121 2) 1331 3) 1024 4) 367

&(800 o0& DB De20? Which of the followig is true?
1) NCWcQcCcZ 2)WCNcQcZ 3JINCZCWcQ 4) NCWCZcQ

30) BotH Somge Iwdo 29 HOAM &8 Sogy WEEVET 5 IEYS

Sum of two numbers is 29 and one number is 5 morethan the other
number then the biggest number is

2) 15 3) 17 4) 14

: 30% of 40 1s
3) 12 4) 18

1) 12341 2) 12321 3) 12312 4) 12221

o558 Sopsnd &ifod I UV Sofs FouR) FBoS?
Which of the following does not satisfies the closure property in the set
of Rational Numbers ?

1) So¥edo; Addition 2) dsoso; Subtraction
3) roeeseBo; Multiplication 4) grrestSo; Division

@)




&8 Sogy Aoy 4 By HoD 5 SN0DS 195 SErsHHE

If a number is multiplied by 4 and reduced 5 is equal to 19 then the
number is ....ccceeeenese

1) 4 2) 6

27%7 _ | eond (then) x =
1) 1 2) 2

DA (SELS o B 3,600/~ 5805 wiRsY o G 3,312/~ oo
PP SAOY BEO.....oeennnnn

Marked price of a cycle is Rs. 3,600/- and Selling price is Rs. 3,312/-
then its discount percentage is ...............

1) 8% 2) 9% 3) 6% 4) 7%

%3 @) rHeess D650

Multiplicative Inverse of 2 i

=
) s

1)1 2)% 3}4 3

3
&8 BESHEITE iy B8P, O Btey) 508 17 . 8PS
Sy BwE) HepfPod 178 . wand ool FEDH

If the length of a rectangular park is 17 mts. more than its breadth.
Perimeter of a park is 178 mts. then its length is ..................... mts.

1) 53 2) 36 3) 17 4) 19

G808 0E* $6FSH =2067?; Which of the following is not correct?
-3

1) (,ﬁ)’:x* 2)x2=Jx 3 %= 4) x xxS=x"

I
X

&i8ob >UE° HEsE D0 B BOYS .evvereerennen.
Which of the following has no multiplicative inverse?

)
1) 0 2) 1 3) -1 4) =
7 (&)




42) o8 o8 oo S 450/- D 6% GRPED By DHoDS ERBORS

A pair of cloths is Rs. 450. Sales Tax on cloths is 6% then total bill to be
SN R ik caimnnios

1) Rs.577 2) Rs. 477 3) Rs.467 4) Rs. 457

Both Horss Saro 850 34 ®and oD 68 OF) Fwo............

If the difference of two supplementary angles is 34° then its smallest
angle is

1) 49° 3) 73° 4) 83°
5.36x10* Q) Ferde Erdo

General form of 5.36x10%is

1) 5360 2) 53600 3) 563600

; Additive Taverss of = i

6
40

Xx+7
=— 90:3:6 =
Ix+l6 7 (then) x =

1Y =1 2) -2

&iiBod S PERchS (Bs°8D?

Which of the following are Pythagorian Triplets?

1) (1.23) 2) (4.56) 3) (34)5) 4) (56,7)
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49) &8 Soms Eos) .‘53 Bty @0 @) ; Béy 0B 4 ey,

3
If % times of a number i1s 4 more than the 3 times of a number then

the number is

1) 20 3) 60 4) 80

“JAISAMAIK YANDHRA PRADESH"&%0 eifyen, rego 058 .........

The ratio of Vowels and Consonants of “JAI SAMAIKYANDHRA
PRADESH”

1) 6:17 2) 7:16 3) 8:15 4) 16:17




